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AT 16, 36, 45, 48 ¥ & weiw @ a5
el |W S o gEd 9E sem R 0

{a) 9180
(b} 9360
(ed 9630

(d) 9840

M x =y, y= 2P # 2 =x° B, A abe F AW
R ?
(a) 1
(b} 2
{c) =1

d) O

‘Iﬁx=2+2m+2mt+'ﬂmxﬂ-ﬁxg+ﬁx
&1} B 7

{a) 2

b)) 1

fed O

d -2

XXYXX % w9 it nig il %1 el Fead 33
8 fepfom et 2 2

(a) 1

by 3

e &

(d) 3+

(2-A)

uTe AR F U g XyessE, S o ® faarsy
TR XM YmIEr S aF S Xy
? 1 X, V& aFl & gwfag i & 9= w=n
27

(a) B
(b) 6
e 7
dy 9

TR 22 - 6x - 27 > 0 B, #t Frfoige § @

ok ol
a) —-3<x<9
(b) <99 x>-3

(el E>O99 xe—-3

(d) HEFAx<-3

HEA! 38808 & WA ol H@E, fEurasi 1 e
e §H HE H Bigw, fhadl B

ta} T4
by 72
e} TO

(d} 6B

o =WEW F UEAW  gEWEds (HCF)
R ST AETEE (LCM) F99: (x + 3) 3
(x? - 9x% — x + 105) § | AR T & v TR
¥ -dx-21%, W O TR R ?

(a) x%+2x-21
by =x2+2x+ 15
(e) x?-2x-15

d) x*-x-15



1. The highest four-digit number which is
divizible by each of the numbers 16, 86, 45, 48
s
(a) 9180
(b) G360
(e} 9830
(d) 9840
2, If x=y% y=zPand z = x¢, then the value of
abe is
() 1
(b) 2
fed -1
(dy 0
3. Ifx =2+ 2% 4 913 {hon the value of the
expression x° — 6x? + 6x will be
(a) 2
(b} 1
(e} O
d) -2
4. How many five-digit numbers of the form
XHYXX isfare divisible by 33 7
(a) 1
(b) 3
fel B
{dy Infinite
GTHY-T-XMT

(3-A)

A five-digit number X¥Y235 iz divisible by 3
where X and Y are digite satisfying X + Y < 5.
What is the number of possible pairs of values
of (X, ¥} ?

(a) 5
(b) 8
ey 7
d} 9

If x2 — 6x — 27 > 0, then which one of the
following is correct 7

a) —-J3<x<D
(b} x<B9orx>-3
e} x>Borx<-3

idl =x<-3only

The number of divisors of the number 38808,
exclusive of the divisors 1 and itself, is

(a) T4
(b} 72
(e} 70
id) 68

HCF and LCM of two polynomials are (x + 3)
and (x? — 9x2 — x 4+ 105) respectively, If one of
the two polynomials is x2 — 4x — 21, then the
other is

(a) x2+2x-21
bl =x2+2x+15
fe) x2-2x-15

(d) x*-x-15
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12.

13.

14.

15.

Al

I dR warm wEEE dEnst F el oW
TAMES 110 B, A I T W IS =
BT 2
(a) 625
(b) 654
(el 684
(d)
ameq,ﬁlﬁp:—EﬂaﬂTq}mt,ﬂ
oA 7168 ¥ 3N I AEOW EEEdE
(HCF) 16 8 | 91 2 qui=hi o1 amest war & 2

256

725

(&)
(b} 184
(c)

(d)

176
164

IR logyo 2 = 0-3010 3 log,y 3 = 0-4771 B, A
log g (0-72) 1 7 formeh w2

(a) 0-9286

(bl 19286

(c} 1-B572

(d) 18572

Py
X ¥y =

A2 a* = b = ¢* 3N abe = 1 B, A
w1 O frmd e g 7

(g} -1
(k) O
ey 1

dy 3
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If @ and B are two real numbers such that

:1+|E||=-E and 1::[5.—1, where 1l <p<g<r,
P

then which one of the following is the
greatest 7

@ =

i+ [}

Two workers ‘A’ and ‘B’ working together
completed a job in 5 days. Had ‘A’ worked
twice as efficiently as he actually did and ‘B
worked one-third as efficiently as he actually
did, the work would have completed in 3 days.
In how many days could ‘A’ alone complete the
job 7

If x° +Lﬁnh[12+i§}ﬂmn k is equal to
x

(a)

(b}

b
@ [z +1+iJ

4 1
{d) X —1——4J

12.

14.

15.

(5-A)

If the sum of the squares of three consecutive
patural numbers is 110, then the sum of their
cubes 18

(a) 625
(h} Gb4
e} 684
(d)y 725

The product of two integers p and g, where
p > 680 and q > 60, is 7168 and their HCF is 16.
The sum of these two integers is

(a) 256
(b) 184
(c) 176
(d) 164

If logyq 2 = 0-3010 and logy, 3 = 04771, then
the value of log,y, (0-72) is equal to

{a) 09286
(h) 19286
{¢} 1-B672
(d) 18572

If a* = b¥ = ¢* and abe = 1, then the value of
: E g

;+; +; ill be equal to
{a) -1

(b} D

e} 1

d) 3
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I FoAl § A v ad g o () 133
() A1 () 233
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(c) 13 28M (@) 5
(dy T 1A a {(b) 15/8
(¢) —15/8
(dy 0O
18, 37 #ft 991 (m, n), T m 3N 0 W =W F H H
i % fs i*%—$=§t- 29, aﬁpaﬂtqmmmﬂﬂt,fﬂF+E
=t ge et & 7 R g 2
(a) 1
i () 2
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18, If o« and P are the roots of the equation
ax2 + bx + ¢ = 0, then the walue of
1 " 1 s
aa+b ap+b
a
(a) T
b =
ac
e
(e) EE
1
d il
& abe
17. Conzider the following statements in respect
of three 3-digit numbers XYZ, YZX and ZXY :
1. The sum of the numbers is not divisible
by (X +Y + Z).
2.  The sum of the numbers is divisible by
111.
Which of the above statements is/are correct ¥
{a) 1only
(b 2only
{c) Bothland?2
(d) Neither 1 nor 2
18. The number of all pairs (m, n), where m and n
are positive integers, such that
1 | 1 1 - i
— 4+ - - — =8
m n mn 5
(al 6
(b} &
e} 4
dy 2
GTHY-T-XMT

I9.

21.

22,

(T-A)

f a=xP"1 b=y=1 c=2x"1 then
al=Thf —Pe¢P -1 jz2 equal to

{a) abc

(b} xyz

c) O

id) None of the above

The number of gides of two regular polygons
are in the ratio 5 : 4. The difference between
their interior angles is 9°. Consider the
following statements :

1.  One of them is a pentagon and the other
is a rectangle.

2.  One of them is a decagon and the other
is an octagon.

3, The sum of their exterior angles is 720°.

Which of the above statements is/are correct 7
{a}
(b}
ic)
id}

The minimum value of the
2%x2 + 5x + 5 is

(a) &

by 15/8
(e} - 15/8
d 0

1 only
2 only
1and 3
2and 3

EXpression

If H is the harmonic mean of P and Q, then

the value of 1% +% ig

a} 1

by 2

(©) P+Q
PQ
PQ

d

(d) P+@



23, maﬂ +1, +2, +3, +4 8 ¥ T W ¥ =|27. us udlen ¥, s50% vl W § % Y, 409
HENH e o Fe ot wE e Tt 1 %e gu af 150 ST fareeli H e am

& ATEA e & 7 fora wftem arordi ol ofm o=t 291 6 0w
{(a) 0O g
2
(b} —30 i
(b)  25%
(e} 30 T
1 ) 75%

24, T 3x® - 2y — 1807 + 10y° W (x - 2y) R|28. 100 m FE TF TONE, 100 m HY UF wiewi
fawfoa e = &, & 9wwe femes |oEr 1 10 FF0E o I = w2 | o o =

BT R ? Rl 2 2
fa) A (a) 36 kmph

b) 45 km
B (b} ph

{e) 54 kmph
() y-5 (d) 72 kmph
(d} ¥+3

20. UF OEfES FEOR W 9T % OREE 20 km

#t gt 40 kmph #1 3Hq 19 | 7 w0 R,

25. AR ab+besca=0%, @
: UF HA 10 km 1 Zl 10 kmph =1 3T =@

(h® —cab (c? — ab)+ (a® - be) (c® - ab) + (a® - be) (b? — ca) 4 @ w2, A anfEl 80 km 1 0
(a® - be) (b® — ca) (c? - ab) 40 kmph 1 3fwa = & 99 w1 & | A 0
I % qE & s am w R 2
{a) 20 kmph
(a) -1
(b}  26-67 kmph
(b} © {¢) 2824 kmph
© 1 , W Plemph
@ 2 30. TF TAW HIA (1000 m) H TF 35 T A, BH

150 m ® &0l 8, @Efh 3000 m $ UF 374
26. =& v UfY w0 B, fow wogEt o & sa fEd Cc DR OmAT@E | BH I= D
atfis 7 @ el =9 % =9 4 = 210 WH 1 = & wra § | (9A A B A B, © 3w

T E D gft wfrifrmet § veom 9@ 8 ded §)
- 7% A #T C, 6000 m i wF B2 F W oW &,
T it Frfefia 3§ & =0 o ad 2

(a) A, CHI250m¥ w0 &

(b) = 3200

(b) C, A 250 m & =aT B
(c) T 4000 @ A CHFI11538 m¥ TOaT 2
(d) T 4800 (d) ©C,ASI 11538 m ™ B9 &

GTHY-T-XMT (B-A)



23. The sum of all possible products taken two at

25.

a time out of the numbers + 1, + 2, + 3,24 18

(a) 0O
(b) —30
(c} 30
(dy 55

The remainder when
Axd - 3123 = 13xy* + '1l.‘l:|.l'3 is divided by
{x — 2Zy) is equal to

(a) Zero
b} ¥

el w¥-5
id} y+3

If ab + be + ca = 0, then the value of

(b” - ea) (c? —ab) + (a® — be) (¢* — ab} + (@* — be) (b” - )

(a? — be) (b? — ca)ie® - ah)

15

fal -1
b} O
e} 1
dy 2
28. What is the principal amount which earns
¥ 210 as compound interest for the second
year at 5% per annum 7
fa) ¥ 2000
(b} ¥ 3200
(e} F 4000
id) ¥ 4800
GTHY-T-XMT

(9=-A)

27. In an examination, 50% of the candidates

failed in English, 40% failed in Hindi and
15% failed in both the subjects. The
percentage of candidates who passed in both
English and Hindi is

(a) 20%
(b} 25%
e} 0%
(d) To%

A train 100 m long passes a platform 100 m
long in 10 seconds. The speed of the train is

(a) 36 kmph

(b} 45 kmph
{e) 54 kmph
{(d) 7% kmph

A cyclist covers his first 20 km at an average
gspeed of 40 kmph, another 10 km at an
average speed of 10 kmph and the last 30 km
at an average speed of 40 kmph, Then the
average speed of the entire journey is

(g) 20 kmph

(b) 26-67 kmph

(e} 2824 kmph

(d) 30 kmph

In a race of 1000 m, A beats B by 150 m, while
in another race of 3000 m, C beats D by 400 m.
Speed of B is equal to that of D. (Assume that
A, B, C and D run with uniform speed in all
the events). If A and C participate in a race of
6000 m, then which one of the following is
correct 7

{a) A beats C by 250 m

(b} Chbheats Aby250m

(c) AbeatsCby 11538 m

id) Cbeats Aby11538m
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O e, v e, v s Hi uE A af
3l it = Ay F GeTEE 06 9 B | Hi
qfEn &1 gaw Bl wee @ | fam = 9w
FH B, 79 uiEn & wft e ey w0
amee 66 @9 @1 | 3fz o o oI, He
& FawH wg ff 6 TR, 7 9w F 12 a9
=g, fum & sy Readt #nft 2

(a) 44d

(b) 4574

(c) 4g=d

id)  4mFd

‘W, B ge | A e s afie R aik
UH T W O A B g § 10 R =
oar B | IH W W o [0 R d B #)
fepam fem =it 7

(a) 12

(b} 15

ey 20

(d) 80

wefies @ T=@w o o 39 B9 we @
85 &= H H, OUE H w=heal & He G,
HYE H TSR T e HEE F 0% & | e
vl sen I @esl & e, d59 6
e w 50% B ik F=ffem e 9@ wst
+1 T TEm, e f 59 G #1605 R |
ae 2Ae T Ger T 9= 1 e, =it
il el W F 40% # IR FA 12 9= 0 E
st #=fied oin deEw e oE wea # ) e
ez wed Tl sl §i g e 1 0
(a) 14

(h) 16

e} 17

() 35

365.

(10 -A)

34, uF =ik 3 foreft gFm & & ampd X dw v

il | fasht o & veel gt w5 dmee = 130
M TG XN FEE R m s am v
W 9% faEh w1 a1 | foht = % o w0 3w
=4ith 4 T 13675 %1 T T w1 A T |
feshl & et O wRe T Y H O | o 2

{a) 75
(b} T BG
(e} =122

{d) ¥ 125

#i ymi 6t THEa F wAER, IR TR @
s feen Skt el = e @ aft aht femm
I o g W o v § sue wte e wmen
B | 5o aut @w, 17 6 gy & 9 2 o =
it AT e fie st fagan oef &
ferm g s & o = = I T 9
form | wm w9 &1 gy i R, 9r s wRER
w sy feEm sl feen o=t fBw e
WAl # o AR A 5 % fan, @ oad
fagr & 1| of 318 = 88,000 978 &t 7R #1
oifers 2 | 4 sl ) sER = e e e
wy 7

(a) & 1,00,000
(b) ¥ 1,24,000
(ed ¥ 1,28,000

(d) & 1,32,000
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The sum of ages of a father, a mother, a son
Sonn and daughters Savita and Sonia is 96
vears. Sonu is the youngest member of the
family, The year Sonu was born, the sum of
the ages of all the members of the family was
66 vears. If the father's age now is 6 times
that of Sonu's present age, then 12 years
hence, the father's age will be

{a) 44 vears

(b} 45 years

ie) 46 vears

{d) 45 years

‘A’ is thrice as good a workman as ‘B’ and
takes 10 davs less to do a piece of work than
‘B’ takes. The number of days taken by B’
alone to finish the work i3

(a) 12
(b) 15
(c} 20
)y 30

Out of 85 children playing badminton or
table tennis or both, the total number of girls
in the group is T0% of the total number of boys
in the group, The number of boys playing only
hadminton is 50% of the number of boys and
the total number of boys playing badminton is
60% of the total number of boys. The number
of children playing only table tennis is 40% of
the total number of children and a total of
12 children play badminton and table tennis
both. The number of girls playing only
badminton is

(ad 14
(by 16
) 17
idy 35

(11-A)

A person bought two articles X and Y from a
departmental store. The sum of prices before
sales tax was T 130, There was no sales tax on
the article X and 9% sales tax on the article Y.
The total amount the person paid, including
the sales tax was T 136'75. What was the
price of the article Y before sales tax 7

fa) TT5
(b) T85
(ch T 122
(d) T125

According to Mr. Sharma’s will, half of his
property goes to his wife and the rest is
equally divided between his two sons, Havi
and Raj. Some years later, Ravi dies and
leaves half of his property to his widow and
rest to his brother Raj. When Raj dies he
leaves half of his property to his widow and
remaining to his mother, who is still alive. The
mother now owns T 88,000 worth of the
property. The total worth of the property of
Mr. Sharma was

(a) ¥ 1,00,000

(b} ¥ 1,24,000

{c} ¥ 1,285,000

dy ¥ 1,32,000
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qH i UF die @il | g % 90 A =
e %1 fima Alg % 9@ F s dee S
# T ¥ | 23 79 0 78 @l v e
% W % fow 7 50 fou @ 381 o @1 fiem
forn it g #1 aE § W 5f
sk zE R d % s so A W, A
TR F A I T aaa S Fma T E o

(@) T 75
by TE5O
fc) T 46

(d)

T (10) =4 vEet v Wi ofi IR gt ) sy
3:1% 3gum § ft | 3@ & 10 99 w2 T
HY FT HFIIE 13 : 7 B | I FEEE I
R

so=d, 21 39
(b) 55 &, 25 af
(c) 757, 25 7§
49 =4, 31 7

T 30

{a)

(d)

|15 (60) TEHI $1 UF & H, 45 Toh A
ged § & 90 wEw o d@ey § ) af
AT F UhF ASH 2 @el § A SHHE
UF Wd AT Ted g, 4 et a heaw
s wed # 0

(a) 30

(b) 20
(c) 15

{d) 10

89. T TR A, 5% 3 4% % GEEY =T

41.

(12-A)

W IR W | 4 96 F I T oW
¥ 405 % R 941 | Fel o TR U o
dt

{a) ® 1075

(b} F 1100

() T 1125

(d) % 1150
aE (12) =afw, ufafer 8 92 =m =@ § 3w
T dER wH 0 3 10 By o § | of
8 =fth Juereg £, @ s # 8 i A @ w e
% foe 3 wfafen feem o2 =m0 == =i 2

(a) 109

(h) 129¢

(c) 15%

dy 1892

THE U A At 3 T gs0 W Am B o
28 wiel g9 @iler | 3w T wrh fiem % A
364 38 g w3 Fm w ¥= R ) Ak
IH WY 12-6% F @ 39 Fee ol fasmn ¢

(a) 457X

(b) 4 &

(e} 8-5FARA

(d) 3T



38.

aT.

X bought 4 bottles of lemon juice and Y bought
one bottle of orange juice. Orange juice per
hottle costs twice the cost of lemon juice per
bottle. Z bought nothing but contributed T 50
for his share of the drink which they mixed
together and shared the cost equally. If Z's
¥ 50 iz covered from his share, then what is
the cost of one bottle of orange juice ?

@ 76
by ¥ &0
et T 46
(dy T a0

Ten (10} years before, the ages of a mother
and her daughter were in the ratio 3 : 1. In
anocther 10 years from now, the ratio of their

ages will be 13 : 7. What are their present

ages 7

(a) 39 vears, 21 years

ih) 55 years, 25 years

(¢} 75 years, 25 years

{d) 49 years, 31 years

In a class of 60 boys, there are 45 boys who
play chess and 30 boys who play carrom. If
every boy of the class plays at least one of the
two games, then how many boys play carrom
only ?

(a) 30
b} 20
(e] 15
idi 10
GTHY-T-XMT

41.

(13-A)

Two equal amounts were borrowed at 5% and
4% simple interest. The total interest after
4 years amounted to T 405, What was the
total amount borrowed 7

(a}) ¥ 1075
(b} ¥ 1100
e} ¥ 1125
idy ¥ 1150

Twelve (12} men work 8 hours per day and
require 10 days to build a wall. If 8 men are
available, how many hours per day must they
work to finish the work in B days 7 -

(a) 10 hours
(b} 12 hours
(e 15 hours
{d) 18 hours

A milk vendor bought 28 litres of milk at the
rate of ¥ 850 per litre. After adding some
water he =2o0ld the mixture at the same price.
If his gain is 12-5%, how much water did he
add 7

(a) 40 hitres
(bl 4 litres
{e) 35 litres
(d) 3 litres
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42. wF 94 | o F u3, ot o & fom @

Wi 72 e & W, 92 @ g @ e
it # | | e % feom @ us i A oS
ugt e wmm, de @ AW, w anf o

121151 oz dis

{a)

(b}

[
R

(d)

. TS =9r 5l W 0 @l s $W % e, 38
40 kmph #t ST6 # w99 790 & | =09 =92
a1z =ift &1 9 T 2 AR R % afes g
7 fordft o R & 60 kmph ) 99 B =51 =1
i = # | Wifers, 91 % W e B 7
(a) HIferh &% 9L # 55 km 7 g0 W A S
% U 92 41

wTfer & WA 60 km i gt T 3l =il
%+ 15 92 918

aifer & W H 60 km F7 g W o =
T 941 &0 % 1-5 T2 |

wifer® & 9 # 55 km 1 it T i =il
% 15 92 912

. Xy frm s R s R d ww
T & | Wden X 3 wm w12 g d go =
H&al § | 3 FW R W R H AES Y F
fererm ww = 7

ta) 16%=

h  12fE

(e) 10f=

d) sfim

. HEE (12) =fe R 3 10 S0 # 16 TR 1
T ¥ gd & | 8 =i wft v F 20 wEi

s it e dr
(a) 12
(b) 24
{c) 36
id) 48

(b}

()

{d)

46. (0-2) % AR 4 Ty fag % gin 91 o Y

47.

# ) =® fGm mn ® % logy, 2 = 030103 B |

o O R 7
{a) 25

() 18

e} 18
idy 17

u fom s g3 #1 sy F Gee s s o=
T 11:3 & | Frafafem s w few
Hifaw -

1. 39 9 T I 8.5 8 |

2. T W 39| a9E Y F T w5 R
A 9T I AY H FHIE 11: 8 F |

g el § A B a3 o
(a) e 1

+49 2

(e 13 28F

(d " 13imade

(b}

48, ﬁﬁmﬁx+yzﬁﬁmx—yﬂﬂﬁlﬁ

(14 -A)

el e g o

(a) ShaE Tum Sgute §

(b) wem 3R fifa agutei 4
(c) Toftm s gefim =gl d
(d) T i wgd gt &



42, The minute hand of a clock overtakes the hour
hand after every 72 minutes of correct time.
How much time does the clock lose or gain in a
day of normal time 7
{a) Lose 121% minutes
(b} Laose 15’?% minutes
gl Gain 121 % minutes
id} Gain 15'?:‘—1 minutes
43, A thief steals a car parked in a house and goes
away with a speed of 40 kmph. The thefl was
discovered after half an hour and immediately
the owner sets off in another car with a speed
of 60 kmph. When will the owner meet the
thief ?
{a) 55 km from the owner's house and one
hour after the theft
{by 60 km from the owner's house and
1:5 hours after the theft
ic) 60 km from the owner's house and
15 hours after the discovery of the theft
idy 55 km from the owner's house and
15 hours after the theft
44, X and Y together can finish a job in 8 days. X
can alone do the same job in 12 days. How
long will Y alone take to do the same job ¥
(a) 16 days
(b} 12 days
{¢) 1D days
{d) Bdays
45. Twelve (12) persons can paint 10 identical
rooms in 16 days. In how many days can
8 persons paint 20 such rooms 7
(a) 12
by 24
(e} 36
idy 48
GTHY-T-XMT

46.

47.

{15-A)

There are n zeros appearing immediately after
the decimal point in the value of (0-2)%%, 1t is
given that the value of log;, 2 = 0-30103. The
value of n is

(a) 25
(b} 19
(c) 18
dy 17

The ratio of the sum and difference of the ages
of the father and the =on is 11 : 3. Consider the
following statements :

1.  The ratio of their ages is 8 : 5.

2 The ratio of their ages after the son
attains twice the present age will
ba 11: B.

Which of the statements given above is/are
correct 7

(fa) 1enly

(b) 2 only

(e} Bothland2
{d) Neither 1 nor 2

The solution of linear inequalities x + ¥ 2 b

and x — v < 3 lies
{a) Only in the first quadrant

(b) In the first and second quadrants

te)  Inthe second and third quadrants

id) In the third and fourth quadrants



19. 7 fom mn @ B whwwi - y? = 0 30| Y A 04 (W) wwT % R Fredeiem
(x—a) + y* = 1 9 THE WEH B R | v | Feem if .

ﬁm‘a'ﬁrﬂ'ﬁﬂ%?

a1 XI1 %1 w5 gfien 4, 550 frendf g faqm
f yrg 7u, 620 Wi § 9@ 5, 60% TEANTE
(@) 2 o e %, 26% ifime s e fam @ o e,
30% Wiforemer sk TEEEETE 0 oUW Y, 28%
B 2 | Mt o aik e § o g | e 20 frond
it faweit & et e |

© -2 51. et ufter fereneff endt o fat o v 7 0

ig) 6

dr 1 (b)) &
el 4
id) 3

52. forar vfimm o] Sedis v fiwg o o

T ?
ol. 'ﬂﬁmﬂﬂﬂlvmﬁx}=u3+h2+n+d% a) 21
TR, Mo+ pley” Frmp g & 2 i

e} 25

d) 27

T - 53, R} faarfet 1 @0 ae0 R, @ wnd=w G
) = Tt et fareneff oy 0 7
(a) 270
(b) 268
(e} 265
idy 260

54, vifasams v w39 8 om BE 3
funfifat &1 T=wm =1, Fw fGEm e

b% + 2a¢ wifiwarea 27t feg we §

h? o8 w4 T RenfiE f gem @, sEem

R

(@) 7:10

S S T (b} 10:7

a’ (e} 9:7

(d) 7:9

8 _
(b) b= - 2ac

(el

{d)

GTHY-T-XMT (16— A)



It is given that the equations x2 — y% = 0 and
ix —a)? + v¢ = 1 have single positive solution.
For this, the value of ‘a’ is

(@) 2
(bl 2

(e

dy 1

60. If o, p and ¥ are the zeros of the polynomial
fix) = ax? + bx? + ¢x + d, then of + p2 + 4% is

equal to

=z
A i

GTHY-T-XMT

Consider the following for the next 04 (four)
items that follow :

In an examination of Class XII, 55% students
passed in Biology, 62% passed in Physics, 80%
passed in Chemistry, 25% passed in Physies and
Biology, 305 passed in Physics and Chemistry, 28%
passed in Biology and Chemistry. Only 2% failed in
all the subjects.

51. What percentage of students passed in all the
three subjects ?
al 6
(b} &
() 4
dy 3
52. What percentage of students passed in exactly
one subject 7
{a) 21
by 23
() 26
d) 27
53. If the number of students is 360, then how
many passed in at least two subjects 7
(a} 270
(b) 263
(e} 265
(d) 260
4. What is the ratio of number of students who

passed in both Physics and Chemistry to
number of students who passed in both
Biology and Physies but not Chemistry 7

(a) T7:10
(b) 10:7
e} 8:7
(d) 7:9

(17 -A)



56. forelt et A Biewl % Avilew w1 79 (3) fem |50, WM wlif x, o %, (Wl %, - %) P

T HT A # ? ny 3 ny (T8 0, < n,) 40 T2 T wg=E
(a) T ATER (A She) & wren # | afe 3 fiven 23 o oAme ® #, @
(b) SHEEF WG (AR ) Frferfian & & ®i-m o = & 7

(c) SFAUE AT (FeTae Tha ) (8) Ty <X <Xy

(d) AT Tt (T ) TR
56. FI9M A % igd 3% 65 § o Fgum B % (&) % <%
3\ a 70 B | 3fe S91 sat = firen 29
# HIEd 36 67 Bid &, A1 SEEM A F BET & @ (% -%)+(%;-%)=0
qEHl F IO B % o 6 e ¥ sEew

TR

o) A 60, Fr=fefian wudi w fem Fifw .

M 1:3

(¢) 8:1 andi

) 2:3 ey 79 i ufiwfem 61 w1 wwdt @ o= feht
aEmE #27 % S s fga |

57. 19 Ywi i miegwr (difgg=) 30 & ) & ok
wegn foru e B 3 g e 8 s a2 # | o FET I :

21 Yeorl & wiihw 7= 5 ;
g et e uw feudg sitma #
(a) 32
(b} 30 I wuAl F day § Fofefee § 4 R
ot 20 us Wt & 2
(d) sate T (Ze1) % o Fife o R
1 HF AT (a) ﬂqlﬁhmﬂﬁﬂﬁ'ﬁaﬂtm

11, %97 1 =i ol =5r= B

58. AH & Y= o =l (FEw) & wem awdl
(b) HEH I &7 A 10 ZE St § el s

#, Forelt amamm gy 1 s
(a) FiER €F F vgfe vam 2 11, %97 1 Fi wHt = 78 2
(o) FHfemios: Femm g6 6 g @ 2 (©) e 158 2 O &y 11 e

(c) =d = TEAT B

(d) Hae oft oiEfda @ & ok o7 (2=
AarFa sfus fraig & 9w 8

GTHY-T-XMT (18-A)

(d) o+ I7E4E B 9 &y 1] e #




55. Data on ratings of hotels in a city is measured
on
(a) Nominal scale
(h) Ordinal scale
(e} Interval scale
id) Ratio scale
56. The average marks of section A are 65 and
that of section B are T70. If the average marks
of both the sections combined are 67, then the
ratio of number of students of section A to that
of section B i=
(a) 3:2
(b) 1:3
e} J:1
dy 2:3
B7. The median of 19 observations is 30. Two
more obgervations are made and the values of
these are 8 and 32, What is the median of the
21 observations 7
(a) 32
by 30
() 20
{d} Cannot be determined due to
insuflicient data
58. As the number of observations and classes
increases, the shape of a frequency polygon
(a) Tends to become jagged
ikl  Tends to become inﬁrea.singly smooth
{c] Stays the zame
{d} Varies only if data become more reliable
GTHY-T-XMT

(19-A)

Let X; and Xy (where X3 > ;) be the means
of two setz comprising n; and ng (where
n; < n;) observations respectively, If X is the
mean when they are pooled, then which one of
the following is correct 7

(a) El < X = i.E
(b} X > Xa
() X < il

) (X —X)+(Xg —-X1=0

Consider the following statements :
Statement I ;

Median can be computed even when the end
intervals of a frequency distribution are open.

Statement 11 :
Median is a positional average.

Which one of the following is correct in respect
of the above statements ?

ia) Both Statement | and Statement Il are
true and Statement II is the correct
explanation of Statement 1

(b} Both Statement | and Statement IT are
true and Statement Il iz not the correct
explanation of Statement I

(¢} Statement [ is true but Statement II s
falze

id) Statement [ is false but Statement I1 is
true
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1 K
61. 'ﬂﬁmﬂﬂ=ﬁ.ﬂﬁﬂﬁﬂ{§ %_.?f'f

2 tan @
1-tan® @
(a) 4/3
(b) -—4/3
() 18
(d) -2/3
. HE 0<0<90°0 < <90° 3 cos B < cos b B,
GIREI= T iiCn R R ks e R
(a) B<h
by @4
(€) 0+ p=00
(dy = Fred 7 FEen 9 9

. v B e v andieTeR TEE & sl won
HaTS W OF w21 9 8 | 99 & us g @
w2 % o %1 3 For 300 B | TR Y SR
d gt 9o % =% 7E 7% = A R i
W, 399 WM 45° % | T b B ¢ H HgIE
e T 2

T |
J¥3 +1
2.2
Jﬁ+1d
2,/2

fﬁ+l)(1"§-—1)d
22

Toraes wE B 7

(a)

(b)

{c)

(d)

64. mmﬂin{h+ﬂj=§ -ﬁngB:%
2, W& A B = ¥ | tan (24 - B) feE|

SR 7
(a) 1/2
b 3

1
(i) R
v3
idl 1

6.

67.

(20-A)

Fratefiaa we=i w famr $ifsw .

cos b cos B
=4 TEl
l1-sinfB 1+snfd

0<0<00°8, & §=60,

2. A% 3tan O + cot B = 5 cosec B, TEI
0<8<90°%, a1 8=60"

I HYA § A HE-HE FE B 7
(a) e 1

(b) aw 2

() 13 g3t

(d) Jdri1smade

Frafafigs weet w faam ifaw

2 2
1. mﬁ&:l—p—za‘—,ﬂﬁp,qﬁfﬁﬂl
grfas FEan , sad 74 9va § v e
P=1q.

2. tﬂnzia:—i.gg.'—._],a!?p.qw
(p+q)°

FTElas HEAT0 &, thEe TH Gvd & T
p=q

Il FaAl A 9 wEavE ad R o

(a) “hae 1

(b) e 2

(e) 13 23H

)y FA iR

Frafefian wuai w fEar $ifao .

1. cos8 + sec d & ff 15 % T A8 &
Hea |

2. sec?f + cosecc A M ot 4 & A B
el |

I T ° @ wEAvE A

(a) THEA 1

(b) a2

(e} 13k 22Mi

(d) FAr1afmada

1.




61, If cos H=:|71-5- , Where B{E-:%, then
2tan@
—————— iz equal to
1- tan® @
(a) 4/3
by  —4/3
€ 1f3
(d) -32/3
B2. If0<@<80°0<¢< 90" and cos B < cos ¢,
then which one of the following is correct ?
ia) O<¢
(b} B=4¢
(e) B+¢=90°
id} No conclusion can be drawn
63. On the top of a hemispherical dome of radius
r, there stands a flag of height h. From a point
on the ground, the elevation of the top of the
flag is 30°. After moving a distance d towards
the dome, when the flag is just visible, the
elevation is 45° The ratio of h to r is equal to
(@) +2-1
f3+1
by =
242
(@) J3 + 1::1
242
) WE+DG2Z-1)
242
64. letsin{A+Bl= % and cos B = %nvhere
A. B are acute angles, What is tan (2A - B)
equal to ?
() 12
b 3
1
e} —=
J3
dr 1
GTHY-T-XMT

L

67.

(21-A)

Consider the following statementa :
cos B = cos 8
l-sinfé 1+sin@
0 < 8 < 80°, then 6 = 60°.

a, If 3tan 0+ cot @ = 5 cosec 8, where
0 < 8 < 90°, then 8 = 60°.

L If

=4 , where

Which of the statements given above is/are
correct 7

{al)
(b}
{c)
()
Consider the following statements :

ﬂ+qi
1. 4:0@23=1—E—-2-E!T—. where p, q are

non-zeros real numbers, is possible only
when p=q.

1 only

2 only

Both 1 and 2
Neither 1 nor 2

dpg
(p+q
non-zero real nuombers, is possible only
when p=q.

2. tan® 8= -1, where p, q are

Which of the statements given gbove is/are
correct ?

{(a) 1only

(b) 2 only

{c) Bothland2

(d] Neither 1 nor 2

Congider the following statements :

1. cos 0 + sec § can never be equal to 1-5.

2 sec? O 4 cosec? B can never be less than 4,

Which of the statements given above isfare
correct 7

(a) lomly
(b} 2only
ic) Bothland?2

{d) . Neither 1 nor 2



68, "R ein?x+sinx=1%, d

71.

72.

GTHY-T-XMT

cos'®x + 3 cosl®x + 3 cos®x + cosx F1 A
ol

8] =1

{b) O

c) 1

idl 8

o2 35in0+5cos D=4, Tl

(3 cos®—5ain 0P FH A FTR?

(a) 9

bkl 12
(c) 16
id) 18

Tf2 cot 6 (1 + sin ) = 4m 3N

cot B(1 — sin 8) = 4n B, A Frafefew o @
FIA-H TF HE B 7

(&)
(b)
{c} (m*-n?P =m?n2

(d)  (m?+ n?P2 = mins

afz v T @ &1 s aft = we
(u? — v3) 3 (02 + +2) §, ot Bgw =1 dmww

(m? + n22 = mn
im®-n?¥ =mn

2016 571 5 8, 91 Bgw 1 aftam et 8 2
(a) 2245508
(b) 288 %
{c) Hﬂm
(d) 576 5HE

[ v o gt el e fe 4 s
HMgT # | 70 siagy d =9 arel feel o s
7t w1 &Eke Feen @ o
52
3
Ve
4
12

4

(a)

(b)

{c)

d) —
6

3.

74.

76.

(22-A)

UHHAH 5 FE0 okt dE (A 3 wE #
oest) foeht o, ded s 3=
6m 4dm 325 mE U= F I & | of=
wuill § #, 5w A geE 0 U aen
fazfi 2 ol vels 91 26 m B | 9= Ea

1 #ftex & feaal # f Iueeg § ol 1 e U=
Fogdfmimrai= o aiagsnt | I=
Fe o o sraves T o g feadt 2 0
(@) 10

(b} 12

e) 13

(d) 14

e wfifae 8 vw mme wdE } S mom
=gda TS vea fargall %1 sew T =
Freferfen et ot = fifiw .

L T% 85%a 3 8 & &% & e
2:1% |

2. S 9imm, T % fEol & gmem =

1 £ |
IHE T 0 ¥ wEEE 16 28 0
(a) Had 1
(b) A 2
(c) 1@ 23
) AA 13T HE 2
u fgs 1 o 5 em, 6 em W T em §
B =1 dEwe s fea &
(a) 149 em2
(b} 147 cm?
{e}  14-5cm*
(d) 14:3 cm?



1.

If sin® x + sin x = 1, then what is the valus of

cos'? x + 3 cos? x+ 3 cos® x + cos®x?
(a) =1

thy O

() 1

(dl 8

If 3 sin @ + 5 co3 6 = 4, then what is the value
of (3 cos 6 — 5 sin 8)2 7

{a} 8

{b) 12
{c} 18
dy 18

If cot®(1+sin@) =4m and
cot 6 {1 —5in 0) = 4n, then which one of the
following is correct 7

ia) (m®+ 0?2 =mn

by (m?-n%?=mn
icd (m®—n%?=m*n®
id)  (m®+n%?=m™n®

If baze and hypotenuse of a right triangle are
(u? — v2) and (u? &+ +2) respectively and the
area of the triangle is 2016 square units, then
the perimeter of the triangle may be

{a) 224 units
(b) 288 units
(e} 448 units
id) 576 units

A cirele is ingeribed in Bn equilateral triangle
of side of length {. The area of any sguare
inscribed in the circle is

g
a) li,,—

2
Ja 2
b e

{b) 7

j2

{E]' I

2

(d) L
GTHY-T-XMT

3.

4.

T5.

[23-A)

Walls {excluding roofs and floors) of 5 identical
rooms having length, breadth and height 6 m,
4 m and 25 m respectively are to be paintad.
Out of five rooms, two rooms have one sguare
window each having a side of 2-5 m. Paints are
available only in cans of 1 litre; and 1 litre of
paint can be used for painting 20 square

metres. The number of cans required for
painting is

fa) 10

by 12

e} 13

idy 14

Let S be the parallelogram obtained by joining
the mid-points of the parallelogram T.
Conzgider the following statements :

1. The ratio of area of T to that of Si5 2 : 1,

2. The perimeter of 5 is half of the sum of
diagonals of T.

Which of the above statements isfare correct ?

(a) 1only

(b}  2only

(el Both1and2
(d) Neither 1 nor2

The sides of a triangle are 5 em, 6 em and

Tem, The area of the triangle is
approximately
{a) 149 cm?
(b) 147 em?
(e) 14:5em?
(d) 143 cm*



76. UF g @z fhEw d9%E 144n m? B, F

79.
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|l #Hi 5 m el w1 v g 9w # | =R
#N % 9¥ %I gl w6 geid @ F1 Fa
gawa femm g ¢

{a) 349 m?

(b) 289z m?

(c) 209z m?

(d) 1497 m?

OF WE W UG TR 8Ehe 462 cm® # |
sereht freft S8 45 cm R | W & AW A
e e

{a} B4dcm
(b) 65cm
(e} 42cm
idl 32em
U AU wiE W wuER (T W) kol P
SFAIHR U ST W R | WE % W e
315 % 9 =1 Tree feaa 2 2
(a) 60°
(b) 45°
(¢) 30°
(dy 15°
W GwEl g dane sEE FE 7| g
H$A%E W WATa B, 9 =He Amm $r e
et 2 2
(a) =w/2cm
(b)] =mcm
ic) 1/mem
(d) 2/rem
(24-A)

Bl1.

20 cm TEETS, 15°cm A1EE 3 10 cm 320 9
UH HUAER S bl S0 TH 6 wew
e | HIE G2 | WA W AR W6 g

a1 gt 2
(a) 12
ibh) 18
{c) 20
(dl 24

Tfg v v & ol & T 1}, A wm o W
Fol Y & R § 2

(a) 382

(by J31*

J2 12

2 12

(e)
(d)

T T By, vF 9 3 v 99 = ofmm
= & | 3R T, 5 3 o whw: gm0 dewa,
Tt 1 dEea ol 99 w5 deew fafde = E,

al Frefafga § & Shmad 2 0
a) T<S5<C
(b B<T<C
e} C<8<T
d) T<C<8

2 gueEy BYEl F g 9 (7 — 443 ) em?
T (T + 443 ) em? B | 39h w gl &5
S R 2

(a) T-443
(b) T-343
c) 5-+3
(d) 5+ 3



T6.

TT.

78.

There is a path of width 5 m around a eircular
plot of land whose area is 144x m?, The total
area of the cireular plot including the path
surrounding it is

(a) 3481 m*
(b} 2881 m*
(e}  209n m?
id] 1497 m?

The lateral surface area of a cone is 462 cm?.
Iis slant height is 35 em. The radius of the
hase of the cone 1=

fa] &4cm

(b) 6-5cm

el 42cm

id] 3-2cm

A semi-circular plate is rolled wp to form a
conical surface. The angle between the
generator and the axis of the cone is

(a) &0°

{b) 45"

(el 30°

dy 15°

A szolid right eylinder is of height = em. If its
lateral surface area is half its total surface
area, then the radius of 1ta base 15

(&) nf2em
(b} mem
(e 1frem
idl 2frcm
GTHY-T-XMT

El.

(25-A)

A rectanpgular block of length 20 em, breadth
15 ¢m and height 10 cm is cut up into exact

number of equal cubes. The least possible
number of cubes will be

{a) 12
{b) 16
(e} 20
d) 24

If the diagonal of a cube is of length I, then the
total surface area of the cube is

ja) 3
b 3
fel 2 I
W 22

An equilateral triangle, a square and a circle
have equal perimeter. If T, S and C denote the
area of the triangle, area of the sguare and
area of the circle respectively, then which one
of the following is correct 7

(a) T<8<C
(b)) S<T<C
e} C=8<T
(dy T<C«<S8

The areas of two similar triangles are
(7-4+3)cm? and (7 + 443 ) cm?
respectively, The ratio of their corresponding
sides is

(a) T-443
(b) 7-3.3
(e) 5-+3
(d) 5+ 43



Bd.

BE.

87.
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U g i ot IEht B H S TR =
itan g =y =9 W atafE e o, A
AT aAA R U R S LT R | kH
TR ?

(a) &

b 2

ey 172

d 15

wE fE ABC ®, S AB, AC W8 AR #
#M 2 ABC 3N .~ ACB % 918 %I & fFaras

D W ufd=gz =0 & | 9 .~ BAC = 50° ®, @

< BDC Tomaes amem 2 7
(a) 115°
(b} &5°
{c} G&H°

(d} 40°

gl Il o FEEEl 1: 3% 90 °@ # | 9
e Aman i fFand 301 % oEum ¥ #, @
3k FTGHI o1 I 1B 7

(m) 1:1

by 2
e) d:1
dy 9

afz & @n AB @R oD fag 0 W W A
uftrstr sl 8 2 AOC=5-A0D %, Tt O
T §94 g6 AW S § 7

407, 407, 140°, 140°

o |

o |

(a)
(b} 30°, 307, 150°, 150"
(el 30°, 457, TG°, 210°

(dy  60°, 80", 1207, 120°

88,

89.

(26-A)

a2 v% fag P @ ueW WA # B @ Pew
fargal A 3fit B # ol gl & il = e

s g rw fagu el

(a) U T =

(b) THFA

(c) AB =5 P
(d} U =S T

Tfg ABC T TusR e ® w8l AC I wu
AP iddasharos el

(a) AC?<AB®4BC?

(b} AC">AB®+ BC®

(¢) AC?<aAR? 4 BO?

(d) AC®:AB* 4+ BCP

wH U & # dEed e R, S aw e @
2a cm F YW T UF F H qfmg ¥ i
i ¥4 ¥ 0% U4 g9 4 ufEmg & | 35 =i
£t Irf gan=t F o a2

{a) (4—=)a®
(b) (m—2)a2

() (B-nla?f2

(d) (m—2)a2f2



B4, The chord of a cirele is -..lfﬁ times ity radius.
The angle subtended by this chord at the
minor arc is k times the angle subtended at
the major arc. What is the value of k7
fa) 5
{B) 2
e 1/2
@ 1/5

B5. In a triangle ABC, the sides AB, AC are
produced and the bisectors of exterior angles
of £#ABC and 2 ACPE intersect at D, If
£ BAC = 50°, then < BDC is equal to
{a) 115°
{b) 66°
(e} bb&°
d) 40°

B8. Two cones have their heights in the ratio 1 : 3.
If the radii of their bases are in the ratio 3 : 1,
then the ratio of their volumes will be
a) 1:1
(hr 2:1
] b B
(dy #:1

B7. If two linez AB and CD intersect at O such
that ~ AOC = § £ AOD, then the four angles
at O are
fa)  40° 40°, 140", 140°
(b} 30°, 30°, 1560°, 150°
fey 30° 46°, 75°, 210°
(dy &0°, 807, 120°, 120°

GTHY-T-XMT
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B88. If a point P moves such that the sum of the

agquares of itz distances from two fixed points
A and B is a constant, then the locus of the

point P is
{a) A straight line

{b) A circle

ie)  Perpendicular bisector of AB

id) An arbitrary curve

If ABC is a right-angled triangle with AC as
its hypotenuse, then which one of the
following is correct ?

ia) AC? < ABY + BCP
) ACY s ABY : BC?
fed ACP < AB? 4 EEE

dy AC®>aAB?+ BC?

The area of the region bounded externally by a
square of side 2a cm and internally by the
circle touching the four sides of the square is

(a) (4—ma?
{b] (=—2)a?
() (8-malf2

(d)  (=—2mif2



91. = & nf smEf i, ABC vE wwew fiyw 2|94, R & swfa H, 2 BoD fees m R
ﬁﬁiﬂ:ﬂﬂ”.ﬁ]}:pcmﬁﬁﬂ =qcm%1
fagw &1 A7 gEs W =W aEE andEe
e m # A 6 snefa § fam o 2
BHEifEd 57 & 85%, 9 em ¥, a8 7

(a) T0°
b 76
{a) paq (e} BO®
(b} np?®+q¥y2 (dy 90
{e) nip®+q® 95. = # W A H, AR 3W g@ w1 =W B
(d) pa/2 frm sz g omt 1 Rmmm 2t %

ECD = £ EDC = 32° §, #! £ CEF 3l
92. i & ¢ sypfa #, g 1 B 6 em B, S + | ’
AT = 4 om 3 | 799131 PT &t wand feahl 8 9 s COF &9, #0187

F C
o
A B
0 E

ia) 6Gem
(b} Bem D
(e 9Ycm
id} 10ecm (a) 32° 64°

93. A2 & 7 srfa A, 9 em e A v gw W (b)  64°, 64°
=T ABCD ¥ | AB, BC 3 cp o w0 00
% & | AB 3N BD il =M ot g e 7 :

# e i af § e T R | oifen wm |96, A9 @ 8 SER A, A ABR -~ A PQR 2 | 3R
F HTFA TR 7 PQ =3 ¢m, AB = 6 em, BR = 82 cm 3N
PR =52em &, 6l QR 3N AR wow: w1 # 7

(a) 9n Gk

(a) &2cm, 10-4 cm
LA () 41em, Sem
(e}  36= (c) 26cm,52cm
(dy 8l=x (d) 4-1 em, 10-4 cm

GTHY-T-XMT (28-A)



91. In the HAgure given below, ABC iz a
right-angled triangle where £ A = 8907,
AB = p cm and AC = g cm. On the three sides
as diameters semicireles are drawn as shown
in the figure. The area of the shaded portion,
in square cm, is
a) paq
by nip? + q)f2
(e} nip?+q?)
d) pgf2

92. In the figure given below, the radius of the
circle is 6 em and AT = 4 ecm. The length of
tangent PT is

0 A e

(a} Bem
(b} Bcm
[c) 9 em
(d} 10em

93. In the figure given below, ABCD is the
diameter of a circle of radius 9 cm. The
lengths AB, BC and CD are egual. Semicircles
are drawn on AB and BD az diameters as
shown in the figure. What is the area of the
shaded region !

A ]

la} Oxn
(b) 2
(e} J6n
id) Bln

GTHY-T-XMT
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In the figure given below, what is «~ BCD
equal to 7

(a) 70"
(b) T&°
(e} 80°
(d) 90°

In the figure given balow, AB is the diameter
of the circle whose centre iz at 0. Given that
£ BCD = £ EDC = 32°, then # CEF and
£ COF mspemt,ival}r AT

(a) 32° 64°
ib) 64° 64°
(e) 32° a2
(d) 64", 320

In the figure given below, A ABR ~ A PQR. If
PQ =3 cm, AB =6 em, BR = 82 em and
FR = 52 cm, then QR and AR are respectively

VAN

A

(a) 8-2cm, 104 em
ih) 41 em, 6em

(e} 26cm,52em
d) 41cm, 104 cm



97, 3 & mE amgfa #, ABC us fivw @ R AB,

BO W &4 2 | 0% 7l BD, ACT #a & |
af# AD = 9em 3 DC = 4 ¢cm B, &1 BD #i

AT TR Y

B
| B D A
(@) 13/36 cm
(b} 36/13 cm
fe) 13/2em
(d) Bem

98. i & el #, ¥ TH aigw W =W

108 em ® | ST 85 1 HIR T B 7

+— fd em —— Hd em —

(a) 201lrcm?®

(h}  186-3x em?
() 4057 cm?

(d} T68%-5xems

GTHY-T-XMT
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99. 49 & T AFA §, ABC vF maT e R,

oo 7= T 30 em FEE H1 2 | XY, BO
% WU B, XP, AC & TW=T 2 3N YQ, AB
& T R | A XY + XP + YQ, 40 cm ®,
PQ 1 OH TR 7

A

B P Q c
(a}) SDcm
(b) 12cm

() 15 em
{(d) 10cm

100, = & T FFR H, ABCD, 4 cm F H= =0

uF T R | WA R W 2 cm AW A TH GO
#F wnuiw we feu 9w # 3N 2 om SO ATEN
o gu ot ' e s ® ) wwifE dm oW
e w B9

D C

A /ﬂ
(a) 5-;— cm?
(h) T% cm?
(e Eg em?
(d) EE cm?



97. In the figure given below, ABC is a triangle
with AB perpendicular to BC. Further BD is
perpendicular to AC., If AD =9 em and
DC = 4 cm, then what is the length of BD ?

B
C D A
(a) 13/36 em
(b} 38/13cm
{e)  13/2em
id) Gcom

88, In the figure given below, the diameter of
bigger semicircle is 108 cm. What is the area
of the shaded region 7

+— H5d con —=— 54 cmn ——>
(a) 201nem?
(b} 186-3x cm?®
(e) 405w em?
(d) 76957 cm?
GTHY-T-XMT
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In the figure given below, ABC is an
equilateral triangle with each side of length
30 em. XY is parallel to BC, XP iz parallel to
AC and YQ iz parallel to AB, IfF XY + XP + YQ
is 40 cm, then the value of PQ is

A

//\\
A

B P (] C
()] SHem
(b} 12em
(e} 15em
id) 10em

In the figure given below, ABCD iz a square of
gide 4 em. Quadrants of a circle of diameter
2 em are removed from the four corners and a
circle of diameter 2 cm is alzo removed., What
iz the area of the shaded region 7

D G
A B
{a) EE emé
1]
T
b} T— 2
g tm
o]
{cl 89— 2
c - tm
b
d) 9= em?
&
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